> restart
> FEcua = (y2 + x-yz) '+ X —y-x2 =0

Ecua = (y(x)* + xy(x)*) (% y(x)) +x = y(x) X' =0

> M==factor(x2 —yxz)
> N:= factor(y2 + xyz)

> with(DEtools) :

> odeadvisor(Ecua)
[_separable]

> P==—x2;Q==y—1;R==x—i—1;S==y2
Pi=—x
O=y—1
R=x+1
S==y2

P S
> SolGral = int(E,x) + inz(a,y) = CI
2

2
SolGral = _x7 +x—In(x+1)+ y? +y+In(y—1)=_CI
B 2 (x)?
> SolFinal == — 5 +x—In(x+1) + yT +y(x) +In(y(x)—1)=_CI
2 (x)?
SolFinal = — <~ +x—In(x+ 1) + yT +y(x) + In(y(x) = 1) = _CI
(> DerSolGral := simplify(isolate(diff (SolFinal, x), diff (y(x), x)))
2
-1
DerSolGral := a4 y(x) = * () )2
dx (x+ 1) y(x)
(> DerEcua = isolate( Ecua, diff (y(x), x))
—x + y(x) X

d
DerEcua == — y(x) =
de M T
> Comprobar = simplify(rhs(DerEcua) — rhs(DerSolGral) =0)
Comprobar == 0=0

> SolAlterna := dsolve(Ecua)
RootOf( -2 242 —4eZ42In(x+1) +2 <, —272—2x—3)

SolAlterna = y(x) =e +1

> SolComplementaria := simplify(isolate(SolFinal, y(x)))

SolComplementaria := y(x) = (x
R()()l‘Of(xzezfz—FZC]62724‘2726272—2)(62,2—3 2 Z_4xeZ—x2 —4¢Z—Zx—l)
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—RootOf(xZeZ,ZHcl 27242 72 Z—2x2 Z-32 Z—4xeZ—x2—4 eJ—zx—l)
e

restart
Ecua:=exp(y)-(l—|-x)y—2x(1+exp =

Ecua==ey()(2 ( 1+ey )

\_/

with(DEtools) :

odeadvisor(Ecua)
[ _separable]

M:= —=2-x-(1+exp(y))
M:==2x(1+¢)

N = exp(y)- (1 +x°)

N:=¢ (¥ +1)
P==2x0=1+exp(y);R:=(X+1);5:=¢
P:==2x
O=1+¢
Ri=x"+1
=¢e
P
SolGral = int(;,x) + int g,y)Z Cl
SolGral == —In(x* + 1) + In(1 +¢) =

SolFinal :==—In(x* + 1) + In(1 + V) = CI
SolFinal == —In(x¥* + 1) + In(1 + &™) = cI

DerSolFinal = isolate(diff (SolFinal, x), diff (y(x), x))

d 2x (1 +¢e™)
DerSolFinal := — y(x) =
ar 7 ¢ (P +1)
DerEcua = isolate( Ecua, diff (y(x), x))
d 2x (1 +¢e™)
DerEcua == —
a YT ¢ (X +1)

Comprobar = simplify( (rhs(DerEcua) — rhs(DerSolFinal)) =0)
Comprobar == 0=0
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